

# R M M

## ROMANIAN MATHEMATICAL MAGAZINE

www.ssmrmh.ro

**SP.337 Let  $x, y, z > 0$ .**

**1) If  $xy + yz + zx \leq 3(2\sqrt{3} - 3)$  then**

$$\sqrt{\frac{xy + yz + zx}{3}} + 1 \leq \sqrt[3]{(x+1)(y+1)(z+1)}.$$

**2) If  $xy + yz + zx > 3(2\sqrt{3} - 3)$  then**

$$\sqrt{xy + yz + zx} + 1 < \sqrt{(x+1)(y+1)(z+1)}.$$

*Proposed by Florentin Vişescu-Romania*

**Solution by proposer**

$$\text{Let } xy + yz + zx = k > 0, \quad z = \frac{k-xy}{x+y}$$

$$\text{Because } x, y, z > 0 \Rightarrow k - xy > 0, \text{ or } x < \frac{k}{y}.$$

$$\text{Let } f(x) = (x+1)(y+1)(z+1) = (x+1)(y+1)\left(\frac{k-xy}{x+y} + 1\right), \quad f: \left(0, \frac{k}{y}\right) \rightarrow \mathbb{R}.$$

$$\begin{aligned} f'(x) &= (1-y^2) \left( \frac{(x+y)^2 - (y^2+k)}{(x+y)^2} \right) = \\ &= \frac{(1-y)^2 (x+y - \sqrt{y^2+k})(x+y + \sqrt{y^2+k})}{(x+y)^2}. \end{aligned}$$

$$1. \text{ If } y = 1 \Rightarrow f'(x) = 0 \Rightarrow f(x) = ct = 2(x+1)\left(\frac{k-x}{x+1} + 1\right) = 2(k+1).$$

$$2. \text{ If } y < 1 \Rightarrow 1 - y^2 > 0.$$

$$f'(x) = 0 \Rightarrow x + y - \sqrt{y^2+k} = 0 \Rightarrow x = \sqrt{y^2+k} - y > 0.$$

**We show that:**

$$\sqrt{y^2+k} - y < \frac{k}{y} \Leftrightarrow \sqrt{y^2+k} < \frac{y^2+k}{y} \Leftrightarrow y < \sqrt{y^2+k} \Leftrightarrow y^2 < y^2+k \Leftrightarrow$$

$$0 < k, \text{ true.}$$

# R M M

## ROMANIAN MATHEMATICAL MAGAZINE

www.ssmrmh.ro

$x$	0	$\sqrt{y^2 + k} - y$	$\frac{k}{y}$
$f'(x)$	-----0+++++		
$f(x)$	↘ ↘ ↘ ↘ ↘ 1 ↗ ↗ ↗ ↗ ↗		

$$f(\sqrt{y^2 + k} - k) = (y + 1)(\sqrt{y^2 + k} - y + 1)^2. \quad (1)$$

Then  $f(x) \geq (y + 1)(\sqrt{y^2 + k} - y + 1)^2, \forall x \in (0, \frac{k}{y}), y < 1$ .

Let  $g(y) = (y + 1)(\sqrt{y^2 + k} - y + 1)^2, g: (0, 1) \rightarrow \mathbb{R}$ .

$$g'(y) = (\sqrt{y^2 + k} - y + 1) \cdot \frac{3y^2 - 3y\sqrt{y^2 + k} - \sqrt{y^2 + k} + k + 2y}{\sqrt{y^2 + k}}$$

$$g'(y) = 0 \Rightarrow 3y^2 - 3y\sqrt{y^2 + k} - \sqrt{y^2 + k} + k + 2y = 0 \Leftrightarrow$$

$$3y^2 + 2y + k = \sqrt{y^2 + k}(3y + 1) \Leftrightarrow 6y^3 + 3y^2 - 3y^2k - 2ky + k^2 - k = 0 \Leftrightarrow$$

$$(2y + 1 - k)(3y^2 - k) = 0 \Rightarrow y_1 = \frac{k - 1}{2} \text{ sau } y_2 = \sqrt{\frac{k}{3}}$$

a) If  $k \leq 1 \Rightarrow y_1 = \frac{k - 1}{2} \leq 0$  and  $0 < y_2 = \sqrt{\frac{k}{3}} < 1$ .

$y$	0	$\sqrt{k/3}$	1
$g'(y)$	-----0+++++		
$g(y)$	↘ ↘ ↘ ↘ 2 ↗ ↗ ↗ ↗		

$$g\left(\sqrt{\frac{k}{3}}\right) = \left(\sqrt{\frac{k}{3}} + 1\right) \cdot \left(\sqrt{\frac{k}{3}} + k - \sqrt{\frac{k}{3}} + 1\right)^2 = \left(\sqrt{\frac{k}{3}} + 1\right)^3. \quad (2)$$

Then  $f(x) \geq \left(\sqrt{\frac{k}{3}} + 1\right)^3, \forall x \in (0, \frac{k}{y}), y < 1, k \leq 1$ .

# R M M

## ROMANIAN MATHEMATICAL MAGAZINE

www.ssmrmh.ro

b) If  $k \in (1; 3] \Rightarrow 0 < \frac{k-1}{2} \leq \sqrt{\frac{k}{3}} \leq 1$ .

We show that:

$$\frac{k-1}{2} \leq \sqrt{\frac{k}{3}} \Leftrightarrow 3k^2 - 6k + 3 \leq 4k \Leftrightarrow 3k^2 - 10k + 3 \leq 0 \Leftrightarrow k \in \left[\frac{1}{3}; 3\right], \text{ true.}$$

$y$	0	$\frac{k-1}{2}$	$\sqrt{\frac{k}{3}}$	1
$g'(y)$	++++	0	-----	0++++
$g(y)$	↗ ↗ ↗ ↗	3	↘ ↘ ↘ ↘	2 ↗ ↗ ↗

$$\lim_{\substack{y \rightarrow 0 \\ y > 0}} g(y) = (\sqrt{k} + 1)^2. \quad (3)$$

$$g\left(\sqrt{\frac{k}{3}}\right) = \left(\sqrt{\frac{k}{3}} + 1\right)^3. \quad (2)$$

Compare  $(\sqrt{k} + 1)^2$  with  $\left(\sqrt{\frac{k}{3}} + 1\right)^3$ .

$$(\sqrt{k} + 1)^2 < \left(\sqrt{\frac{k}{3}} + 1\right)^3 \Leftrightarrow k + 2\sqrt{k} + 1 < \frac{k}{3}\sqrt{\frac{k}{3}} + 3\frac{k}{3} + 3\sqrt{\frac{k}{3}} + 1 \Leftrightarrow k > 3(2\sqrt{3} - 3).$$

Then  $f(x) \geq \left(\sqrt{\frac{k}{3}} + 1\right)^3, \forall x \in \left(0, \frac{k}{y}\right), y < 1, k \in (1; 3(2\sqrt{3} - 3)]$

and  $f(x) > (\sqrt{k} + 1)^2, \forall x \in \left(0; \frac{k}{y}\right), y < 1, k \in (3(2\sqrt{3} - 3); 3]$ .

c) If  $k > 3 \Rightarrow 1 < \sqrt{\frac{k}{3}} < \frac{k-1}{2}$ .

# R M M

## ROMANIAN MATHEMATICAL MAGAZINE

www.ssmrmh.ro

$y$	0	1
$g'(y)$	+++++	
$g(y)$	3 ↗ ↗ ↗ ↗ ↗ ↗ ↗	

$$\lim_{\substack{y \rightarrow 0 \\ y > 0}} g(y) = (\sqrt{k} + 1)^2. (3)$$

Then  $f(x) > (\sqrt{k} + 1)^2, \forall x \in (0; \frac{k}{y}), y < 1, k \in (3, \infty)$ .

3) If  $y > 1 \Rightarrow 1 - y^2 < 0$ .

$x$	0	$\sqrt{y^2 + k} - y$	$\frac{k}{y}$
$f'(x)$	+++++0-----		
$f(x)$	↗ ↗ ↗ ↗ ↗ ↗ 4 ↘ ↘ ↘ ↘ ↘		

$$\lim_{\substack{x \rightarrow 0 \\ x > 0}} f(x) = (y + 1) \left( \frac{k}{y} + 1 \right). (4), \lim_{x \rightarrow \frac{k}{y}} f(x) = \left( \frac{k}{y} + 1 \right) (y + 1). (4')$$

Then  $f(x) > (y + 1) \left( \frac{k}{y} + 1 \right), \forall x \in (0; \frac{k}{y}), y > 1$ .

$$\begin{aligned} \text{Let } h(y) &= (y + 1) \left( \frac{k}{y} + 1 \right), h: (1; \infty) \rightarrow \mathbb{R}. h'(y) = \frac{k}{y} + 1 - \frac{k}{y^2} (y + 1) \\ &= \frac{k}{y} + 1 - \frac{k}{y} - \frac{k}{y^2} = \frac{y^2 - k}{y^2}. h'(y) = 0 \Rightarrow y^2 = k \Rightarrow y = \sqrt{k}. \end{aligned}$$

a) If  $k \in (0; 1] \Rightarrow y = \sqrt{k} \leq 1$ .

$y$	0	$\infty$
$h'(y)$	+++++	
$h(y)$	5 ↗ ↗ ↗ ↗ ↗ ↗ ↗	

$$\lim_{\substack{y \rightarrow 1 \\ y > 1}} h(y) = 2(k + 1). (5)$$

